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[At every step / in our journey through life]
every + Th=BA} oy, dz
Hyo| ZH 22| oFo| BE Tl
we encounter junctions / with many different pathways / leading into the distance.
2713 many different pathwaysE =4l5t= &AL J = that lead ~ 2
2= W ROE 0|0{X| & B ChYP Lo| Qe BI|IHS gt
Each choice involves uncertainty about which path will get you to your destination.

Each + Ch=QHAl + Ch=S AL (8h certainty O 2 EAHRAALX) L TR E (Cl+F+8 &)

Ztzto| MEl2 ojE Zo| of2{£2 SHX|2 H2CHEXI0| CH3t SN S utsic
Trusting our intuition to make the choice often ends u
SYA F0f B | to RHAFRAESY RSV LETRSA | | SYA Kb
L (§) gut, instict end up with ~2 UL L, SEAF making?| 2|0|4 304
Meig 87| glsl 2o B U A2 B3| 2|7t KMo Mg sH= Ho2 Bita Bt
Tuming the uncertainty into numbers has proved a potent way of analyzing the paths
| SYAFO| + TS Fof x| Fo| 2 HXAL ofo] BE0| SHALL1
L (§) Translating, Changing, Converting ( & Ch4= &£ 0{%])
and finding the shortcut to your destination. » [EEES

analyzingdh HELE SHA2

=

g

The mathematical theory of probability hasn't eliminated risk,

TS ErS AR (HTRHR)

1S X2 B E A2 o222 SHXZ 7hs 22 2M5tn XNEZS R 2 YHoR ASEULCL

THE

280 T3 231 0|22 S RI0NXIE LRI,

but it allows us to manage that risk more effectively.

584 SAtallow +O+ to FFA FUHO R (FA)

2a7t 1 9de
The strategy
S \Y C1

ZNHoR

to analyze all the possible scenarios [that the future holds] and then

=252 Py

e

218 4 AES

ek

o Ct.
is

1 HL ojEst FD Y BE TS AL 28 EA O,

= T.s

to see [what proportion of them lead to success or failure].

p with us making a suboptimal choice.

a2
o=

oz

Ho

C2  So|2YEAt (proportion F=4l) UHOYZE (Cl+F+3 Ow)
JAE0| d3o|Lt M2 o]ofH H| 20| oLt E|=X| & #EHEE Z40[CE P in which you can base your decisions [ path==4]
This gives you a much better map of the future [on which to base your decisions] about which path to choose.
| HoZ 2x | XA+ | decision about (~Of 2t Z2%) L o= (O|2HEAh
L, base A on B (AZ BO| 2AHFLCH * m

LAILEIRE 2A3tn 30|L Hijf H[gS HHE= A
0|Zi2 oftd 25 Mg ZiQAX|of] et of2{22] ZHo et EC7 & = A= W O 2 0[2e] X[ =5 of2{20Al M3t

* junction: &7|8 ** suboptimal : At 2]

= © 943X 4= 2l 2o ot FHHOl A &S MAoL Bttt @ S8 ZYS WE Mol Ao Xztofl el EHEFSof Sht
® O L2 Mg 2ol 43 7tsds SEXCE Mool Bict. @ e S8 4SS o) XIEZE 7taxt & 0 MFs{of oot

Z © Mol o HollA MO 2 HIHE AAZ MU Of L}
journey GES] encounter QFLICE, OFFEX[CH pathway 4,8
uncertainty =AY destination SAX|, ZEX| intuition R
potent dEe g analyze 2450t shortcut XEZ
theory o2 probability =5 eliminate AOHCY, M| A SHE
manage 22|tk strategy e future ojef
scenarios ALzl proportion Hl& decision 273
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Consumers / usually attempt to spend / as little as possible.

~5t2{1 SICt attempt to V. as AL as possible: 7bs 3t ~SHA|

2H[ZHE Oi7H 7hS e o A 22 280 Stoh ¢ L Ol AH[RRe| FeS AlANE

However, it is often the case that people become too concerned with spending as little as possible

| @ (AEF0]) ~0f 2t20] ACH @ (AFEZF0]) ~0i 20| UACH
too concerned with X|LEA[A H & MAME=

|
L~ Z@7t ek ~0l Z40] A O|Ct

[in the short term], while ignoring the long-term cost of their expenditures.
H& AL whileO| 0|1 BAFLEC R 1 F0{7} ignore2| HIAO| D SHOE Hmp2 1 YOO ignoringO| XA s}t
= while they are ignoring, while(~ ¢! B, (/) whereas)

SHX| 2 AFES0| X1EL| H7|HQ H8S FAISHHAM TI[Ho 2 Jhseh ot M| 2AE O XLIXA| MF S 2H £l 327t =351

Homebuilders are keenly aware [that most homebuyers are trying to buy a home {for the lowest price possible}].

be aware that + 2t &: ~2= 2 QIX|sICt try to V
S AR E R 22 F FOIXI7L 7Hs e 8 7HY R2 7HHo| FE S oSt} Siche WS B 20 Aok
,in the case of the new home, this is not the most important issue for a wise consumer.
~o] R0 | LRIMoz ZHEE AMASte #2 (CHe SE0IA 712 FE0| AlZ = EHA)
L to buy a home for the lowest price possible
SHX|QH M| FEHO| AR, S AH|XIO|A O|HE 71 2% 2H|& ot}

Most homes are purchased through a mortgage, and [a wise homebuyer should be interested

[1 20| FHO| T CafLts 221

not just in the price of the mortgage, but also in the total price of owning and maintaining a home].

not just(only) A butalso B: A¥EHOFL|2} BE %A| *
AR OFL|2F B not only A but (also) B = not just A but (also) B = not simply A but (also) B = not merely A but (also) B

Rz FH2 52 8X4E Safl A==, A T FUi= F2 X 7tH2 T ofL 2t FHS 273t |FX|St= O E= U HHS 71X Ok Bt

ST 0 —= o

Besides maintenance and insurance costs, / this would include the mortgage and utility payments.
~0[2|0f| = () in addition to L, the total price of owning and maintaining a home
fXHet HHE 0|0 / 0|He F Xt AT ZTZTRI HAUTS T Ho|ct,

It is usually the case that a more energy-efficient e costs more to build,
SAH

=
o

and therefore has a higher mortgage payment.
SAR2
olix| E24o| of £ FHe R o B80| O Bo| S matM FH Xt 4#30| O &2 0| L7 Atdolct,

[ERMEVET, {a more energy-efficient home} also will result in {smaller utility payments}.
0ad | ()2
L($) bring about, lead to

SR o %] 2EY0| O =2 FH2 £t I35 FYUS0l o HE Ao|oh.

* mortgage: =& SAH(F)

@ Fo ALYRE U BB ATkY F0/7| ) wHeOF VL @ FY POARIE T §x}p £US BB Hlmotn Mo} BiC
® H7| 238 F07| Aok FY KK B0 PES MBS HOF AL @ M FUS UL G RojRe| 2R 7SS Hoke HFeof o,
© M TS PO U T OfLj2t £ §3| B8 T2siof B,

concerned AlAEE M= ZHAE JHE be the case ~0| AtAlO|Ct in the short term Ch7| Moz
expenditure XE keenly BlIEQiof, & besides ~#at ot et
maintenance =X 2 keenly HIE210| insurance Hy
utility 3522 energy-efficient O X| 284 0] Y& cost (H-80ol) =t
result in ~& Zefstt
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01 It is obvious [that organized party spirit is one of the greatest dangers of our time].
ESe \ LI 3F g g one of the |45 + S5HAt
LES %
=E3E ubA @ERD)0l 22 Althel 7k 2 2IE £ siude EYsict
02 Inthe form of nationalism it leads to wars between nations, and in other forms it leads to civil war.
~o| HEf2 ~& O|Ofx|C} O gejs2  ~2 olofx|ct  uH

F7kzole] YEIZ AHS 27t 7o) YO R 0[0jx| L, THE HEHE IS YHES xEjt,

03 It should be the business of teachers

sua PFOL P TFO [to stand outside ~ at their face value]Z 25 3| x HHETE

2x . . . . . . L. .

@ [to stand outside the strifes of parties and endeavour to instill into the young the habit of impartial inquiry],

| FEA Sl SHA2 Fsict instill2l S%{of
L[] ®zof
leading them to_judge issues on their merits and to be on their guard / against acceptinq one-sided statements
| judge ~ on one’s (own) mer|ts | TX|AL + SHA \ [y
| (CHE MR 2R E A & 0| ot Xt4lo| 2O FHEHSICH | °'HW°| G ) partial, blased d
L ZATE (lead + SO + toFHADH 1 at one's face value: ™ {2 Lbe on one’s guard: ZHE =FX| 2Lt

at their face value.—————-

YIS SOl MM F20IS0IA X 2KIX| B BT HBES FASHI L 2ASj0], 10| BHE MU SO w2y HEisto] YUY WEE AN
a2 WorS0|x| REE AABH s 20l WAL = YO|Ojof BHh *AlH|BN(RkmE) £2 121 21 28
04 The teacher should not be expected to flatter the prejudices either of the maob or of officials.
be expected toF Al ~St=F 7|CHE|Ct either A or B: AO|A{Lt B 22|, ST
WAL 2B0|Lt BHE|S2| A obHSIEE R TE|0{ME o ECk. P 7|7H0| 8 Oh3
05 His professional virtue should consist in [a readiness to do justice to all sides],
() lie in J L consist in A: AOf| QAC} L ~& 3785 CHSICE do justice to something, do something justice
and in [an endeavour to rise above controversy into a region of dispassionate scientific investigation].
and (consist) in B: BOf| Q/Ct L, an endeavourg F=A5t= YEALA 89| toR T AL

Jdo| MY H52 7I7H0] & Hoj| 3ESHA| ot = ot =¥ S 5o 3T IS A QG2 2 S0{73 = == 0f Lojof BHCt,

06 If there are people [to whom the results of his investigation are inconvenient],

(=Even if) L[] people2 +=A5l= SH AR A HAME L be inconvenient to: ~O0f 7| £ H5}Ct
L, inconvenient to2| MX|AF7F whom 222 0]& (= whom the results ~ inconvenient to) — [ ] x SEEEEE

he should be protected against their resentment, unless it can be shown
be protected against: ~25E 2SEC} (=if ~ not) L 7}F0f L, (unless ~ demonstrable untruths) %

[that he has lent himself to dishonest propaganda by the dissemination of demonstrable untruths].
LEIF0{  lend oneself to:~0f 7tEtSICt

19| ZAL Hupzt S AFEEO0| QUCtD StEEte, 7t USE = A= AN fKEE BT MH0| 73Ut AS 2 F = 8
EL2HE BSE[0{0} $HCf,

a

.

rir
s
rir

&9

* dispassionate: 3&% ** propaganda: 8% *** dissemination: § %

& 101021 EY: ZESE SmAEKOS AT 1 22t

;T'I » [03] ZE: WA} sfloFg U - SHME0| X|X[X| e HEH AIE SHESE o|IE A
- [04-06] SHHEF: wAEO0| sfjof T FH|H WSt 2 S0| 2= 'LOLOf SHCt

= O o oot R AR WF0| Lot 0fofF BhLf, @ wAt= £ HAIH Lo X| XM= ¢ Eo
® ZYg 2t EAH doflof A7 2t @ 3 ¢ FHXNH 252 UFEF 0| FABICE

& o =YL s@xtel oo YKo 7 7200 St
nationalism AI=F9| strife Z5 e endeavour = H(5teh
impartial K SAX| %= inquiry BT accept ZHoHZ 0| Lt
flatter O ShCt prejudice HA mob iy
virtue e readiness 7|7H0| t2{= Or= do justice SHE3| oStk
controversy = investigation ENS resentment =5
dishonest £H-st demonstrable AS 7tsT
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[What urgent tasks] are you facing this week? ol 22 o] Fof ofE ZIZ 3 Uofl @ Q=T
[1F (what2 YAl tasksE $AISHE Q2 EAL O{H, & urgent = crucial, critical, essential
Make a list. Then compare that list of urgent tasks to your list of critical and enabling goals.
Fys 21 LM / H-E compare A to B AS B2t H| W SICt « disenabling = feasible

SEg ohsel 1M Che 1 23T Y S22 ofzR S0 S5 U MY SE SE1 Has| 2at

Do you see anything resembling a match?

EARLO| S A

HIX3HA LX|8HE o Zo| Bo|E7}?

Don’t be surprised if most of the “urgent” issues on your list have nothing to do with your critical and enabling goals.

‘UE BANE YEAHIE ~StHELE) 20| it « have something[much] to do with = feasible
ozl 250 ol I BA (20| ol B0 2E U MY SHE} oL 0| gictn T Hatx Lat
In the absence of serious time management, it’s easy for your days to fill up with urgent but unimportant activities.
.0l &2 420 <in the presence of 74304 2I'Z'I’c\*gl F0f e

x|t AjZE 22| 7t giE B2, o222 SRR E USOHRU 25K U2 HE2= MAX|7| HLt.

The same applies to many of the commitments we all make to others in the spirit of helpfulness.
727l WEE &%) make a commitment 250 we 20| 58 A 2HA T B At that, which 42F  <hindrance, obstruction

L2 RE7F =80| ECh= OFS 22 CHE MRS ot B2 dS0ME SZ0| HEEICH

07 *“Yes, I’ll help you with that report,” you tell a colleague.
help AR with [AFRQ]] [2E] ASTH —enemy, foe, antagonist
“Hl, M7t 1 EaME ZHdshs WS ZotEAHIQ 2t o2 E2 SEAH 2
08 *“Yes, I’'ll volunteer to sell raffle tickets for the school fund-raiser.”
SAE Y 2
“H, 81 713 23 YALE fITt 22 S2A TOfE XA
09 Commitments like these keep us busy without necessarily bringing us closer to our higher goals.
keepl| EXZEO{Z MOl HEAL busily(X)  HX[AF withoutl| SX0{(S A}
ojgt Ze k&2 MIEA QB2 920 O 52 SHO| O 70| 7HA| SHX|E Lo A SB|E AL HpmA| SHC),
10 To be an effective time manager, you must discipline yourself to differentiate between what is urgent and important
*x FEAREY = between A and B SStHM SAl0| S2%
and what is simply urgent.
SAHQI AlZE BE|XZL 7] fIiM, o222 ZSStHME Z2% At OX ZIg8 28 FESEE KHilS Sl of gt
11 When you recognize the difference, you’ll know best how to allocate your time.
<similarity, sameness &A know =4 £AF 7Y ' how to allocate= SAF know?| S% 0 qg
the difference=the difference between what is urgent and important and what is simply urgent
ol2{£0| 1 A0 MIS W RAlo| AZHE BEBHE WHES JE T ¢ Holck
* raffle ticket: 4% 823
= O Me|siop & Y59 RUERIE ot 7% 7|ZE L2 Fdsfiof Bhof. @ FIHHQI AlZE 22| E 2ol ZESHME S2% YS Ft2{Ljof sict.
;; G 7142 SHE dd0| XA 310 AlZtE 2eHo 2 Hald|of otCh @ 7|3 Lol A Mg 4~ As YR AKX TEHSHO] QAL & Of Shot
S © O3B0 Mol =22 2¥Sts SEE A7| YN HUHOE ot Of BiCf.
Summary:
Without serious time management, each day can be filled with unimportant activities. So, to be an effective time manager,
you need to prioritize what is urgent and important.
urgent Ua% face Z|HSIC} compare H| WStk
critical Eekel, enable 7+sSSHA SiL}, A¥ 7HsSSICE issue =5
have nothing to do with ~ ~2+ Z240| giCt absence 23, e fill up with ~2 JI5 Mo
apply M asict commitment of & helpfulness E=(0] &= 2
colleague == fund-raiser L=R=Ny discipline S st CHASIDE
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We can safely argue [that nearly all aspects of modern human life owe their existence to science].

L YAE &AL that (X 0]) owe A to B: A(Z1h= B Q) E&o|cy
= claim, insist, assert

| o A7 Yol Ho| RE wo| Atet Mo EXFCLD FRAE 2 S2X| 2 > Jrk
Electric light, mass food production, transport, air conditioning, medicine, heating, clothing manufacture, etc.

ol detof ALl atet Ao H=S2| OAIZH BAKTHS| HElZ LHEE =

are all the products [of scientific research].

V

ME, i AZ M 24 ofojH, QUE, Lt o2 XX 52 25 tE | MEo|c),

If we [lalElfE{0) s convinced ourselves that our scientific endeavours were merely of interest to other scientists,
convince + AFZ + that + S + V: ~O| 7| ~2 ZAIA|7|C} of + =& YAt = HEAL (=interesting)

de{ez oo 22|o] BtEts 2{o| ¢hx| CHE ptRbES| TAAIY #o|atn gAlshotH,

then we would not only be incorrect, we would be selfish, short-sighted, and historically ignorant.

7 but2 o SC1 sC2 SC3

Rl THX| £ Y 29k otLzt, o[ 7|Ho| D Ao HAEo 2 2X|EH A ZAo|LCt,

Even the most theoretical and "blue skies' research can be useful and interesting to non-scientists.
| M | ' SCHEd :
L 'O 2HQl' & practical 1A Ql, AKX A QI L, = be of use and interest

HXIof 7t o|2Xo| 1 ‘WA MAINM HE0| ZAXCR RG] 2 AT HASXSOA F85tn S0[2E + AL

= lay people, the public

We are compelled to extend our science results and their implications to as many people as possible.
be compelled to V: '~St= & ZQE|CH o1 02 as many 'S+HA} as possible: 75t B2 "HAY
= be forced to V SS(®F) H[WO|2Z more (X), most (X)

maty L2l 2|7t 0|2 Tpste| Zatet Aol 0| FHsE B B ALZO|A| O/X| ZE sfofat FCt,

As if we needed more jobs to do and expertise to acquire!

Asif S + V: OMX| ~N & o1 | 02

L to do®f to acquires 212t & YALE +=A5t= F8AMY 8H 2l to £ A
obx] S2[07lE soF & Yo Cf o] Lestn &S5sioF & HE X|40| o Bo| Be3 R Lo|cH ——
Ol EnElY, effective public engagement is something [that most scientists have done @ poorly since

=W = something2 +=4{5t= 552 A AE |
ATt E have p.p. ~ since + ItAH A|H

the advent of modern communication technologies],

'~9| E¥' = the arrival of, the emergence of

US|, S Y Dol Vo S 7|5 EH 0|2 iRBel AL Wex| 2 Yojat

KI =2

% mastering a good communication strategy should be something [ every developing scientist should try to improve].

+Z1 S (SYAFO) * L that 8 2f somethingS +4{3t= FXZ A BAE

53 A5 Mg SYoE A2 WM e 2

rin

SR Y AT ER = Hslj0f St ¥ AO|Ct

* blue skies: H|$1 & X QI

@ SR Aol of AFZ S ZhX| D A0l 2BH{Of BhLt,
= 0 Ao ofH UPHOoIME DbebRte| R 740] 7§ Y | K| SFOFOF BhCt.
xp @ M= CRE BptXSOtel XEXMQ D F2 AZS HE{OF BICh
S @ WExt= £ I QAL E TS 27| fI6 2{s|oF SiCt,
® A7t el ddgo| 2 Hast 4K FYUQU0| EEoHOF Bt
safely 2 EZ|X| Y|, FHSHA aspect ™ owe Ato B A= B H&0|Ct
mass Chzrol, th& 9| transport 235, 55t manufacture =
convince 2HAAZ|CF endeavour ¥ AL merely EHA
selfish o|7|x= ¢l short-sighted A2t 21, ZA[Q ignorant 2 Xt
theoretical O|2% ¢l be compelled to do extend O|X|C}, i C}
implication g, eh= (01" == 810]) ~f{Of Tt SFCf expertise FEX|A
acquire EEoiCt effective =anizShe] engagement 2o, & o
advent =, e strategy Her improve SEAA| 7|
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